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1. In NM data type representation “01.50” is same as 

A). “1.5”

B). “01.5”

C). “10.5”

D). “1.05”

2. If the Data type for a Field is Variable and so its Maximum Length cannot be expressed. This will be displayed

A). 9999

B). varies
C). 999999

D). 9999999

3. Encapsulated data type(ED) has following subcomponents

A). Source application (HD)

B). Type of data (ID)

C). Data (TX)

D). Expiration date(DT)

4. Which of the following values is a possible value for Identifier type code (the fifth component of data type CX - Extended composite ID with check digit) as suggested by the standard? 

A). Base64 - Base64 encoding as defined by MIME (Multipurpose Internet Mail Extensions) standard RFC 1521 

B). BID - twice a day at institution-specified times (e.g., 9AM-4PM) 

C). PI – Patient Internal Identifier 

D). XML - eXtended Markup Language 

E). Z - Z Segment 

5. What are the possible reasons for which HL7 cannot be Plug & Play?

A). Lack of common data model

B). Lack if flexibility

C). Lack of process conformity within vendors

D). Lack of negotiations within vendors

6. Choose the correct option(s)

MSH

MSA
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WDN
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WPD

     
}]

   }

A). WDN and WPD segments should appear in pairs, but the pairs are optional and can repeat

B). WDN, WPN and WPD segments should occur once and can repeat

C). WPN and WPD segments should appear in pairs, but the pairs are optional and can repeat

D). WDN segment should occur once and can repeat

7. What data type is the following field? 

   |\.in+4\\.ti-4\ 1. The cardiomediastinal silhouette is now within normal limits.^\.sp\\.ti-4\ 2. Lung fields show minimal ground glass appearance.^\.sp\\.ti-4\ 3. A loop of colon visible in the left upper quadrant is distinctly abnormal with the appearance of mucosal effacement suggesting colitis.\.in-4\|

A). FT - Formatted text

B). HT - Hypertext Markup Language

C). RT - Rich Text

D). TX - Text Data

E). XM - Extended Markup Language

8. Family Name appears only in

A). PPN, XCN, XAD

B). PPN, XCN, XPN

C). PPN, XCN, XTN

D). PPN, XAN, XPN

9. XON data type stands for 

A). Extended composite ID number and name

B). Extended composite name and ID number for organizations

C). Extended telecommunications number

D). Extended address

10. What data type is the following field?

|^100^-^200|

A). SI - Sequence ID 

B). NM - Numeric

C). SN - Structured numeric 

D). CQ - Composite quantity with units

E). None of the above.

11. Which of these are Components of Visiting Hours data type 

A). Start day range

B). End hour range

C). Start week range

D). End month range

12. Given the following abstract message definition: 

MSH Message Header 

MSA Message Acknowledgment 

[ { PID Patient Identification 

[ { WDN Widget Description 

{ WPN Widget Portion } 

[ WPD Widget Portion Detail ] 

   } 

] 

   } 

] 

Which of the following ordered segments in a message would be ILLEGAL? 

A). MSH MSA PID 

B). MSH MSA PID WDN WPN WPD PID PID PID 

C). MSH MSA PID WDN WPN WDN WPN WPN WPD 

D). MSH MSA PID WDN WPN WPD WPD WDN WPN 

E). MSH MSA PID WDN WPN WDN WPN WPD

13. The message fragment DSP| TOTAL CHOLESTEROL 180 \F\90 - 200\F\ would cause the following information to be displayed, given suitable assignment of separators:

A). TOTAL CHOLESTEROL 180 |90 - 200|

B). TOTAL CHOLESTEROL 180 90 – 200

C). TOTAL CHOLESTEROL 180 [90 – 200]

D). TOTAL CHOLESTEROL 180 \F\90 – 200\F\

14. In an HL7 message, while calculating maximum length for a field

A). Length of the component and subcomponent separators were Included in Calculation

B). Length of the component and subcomponent separators were not  Included in Calculation

C). Only Length of the component separator is  Included in Calculation

D). None of the above

15. In a HL7 message, sending the null value in a field, which is transmitted as two double quote marks (""), is same as omitting an optional data field

A). Yes

B). No

C). cannot be  said

D). there is no such provision in HL7 message definition

16. Only a General Ackn Message needed with all components of MSH not present or null if the sending application is sending ___ as sequence number.   

A). Only 0.

B). 1

C). Only -1.

D). 0 or -1.

17. To specify “delete all” of the segment in repeating segment group, in the snap shot mode, send 

A). A single segment with “delete data” indicated for all fields.

B). A single segment with “delete data” indicated for one fields.

C). A single segment with “delete all” indicated for all fields

D). A single segment with “delete all” indicated for one fields

18. Which of the following is one of the two cases in which an HL7 batch file may contain zero HL7 messages?

A). A batch containing zero negative acknowledgment messages may be sent to indicate that all the HL7 messages contained in the batch being acknowledged are implicitly acknowledged.

B). A batch containing zero HL7 messages may be sent to meet a requirement for periodic submission of batches when there are multiple messages to send.

19. PPN Data type is Equivalent to

A). XPN Data Type Joined with DTM Data Type

B). XPN Data type Joined with CE Data Type

C). XCN Data type Joined with DTM Data type

D). XCN Data type Joined with CE Data type

20. Which of the following is used for Start highlighting?

A). \H\

B). \E\

C). \N\

D). \G\
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